Material Specification

WELDING PROCEDURE SPECIFICATION

A709 TO A500 GR B

Welding Process FCAW
Manual or Machine SEMAUTOMATIC
Position of Welding FLAT
Filler Metal Specification A5.20 - 95
Filler Metal Classification ~ E71T-1H8 E71T-9H8 LINCOLN ULTRACORE
Flux N/A "
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
Root Treatment D1.5
Preheat and Interpass Temperature D1.56
Postheat Temperature NONE
Heat Input Min Max
+ WELDING PROCEDURE.
Pass Electrode Welding Gurrant Travel Joint detail
no. size Amperes Volts speed
1 1/16 300 26 - 14
Variable LIMITS 270 24 12,6
TO TO TO
330 28 15.4
2V

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No.

3009

Revision No.

Form Iil-2

Contractor Elderlee, Inc.

Authorized By

RANDY SCOTT

Date

5/22/2013




Material Specification .
Welding Process
Manual or Machine
Position of Welding
Filler Metal Specification

Filler Metal Classification

Flux

Shielding Gas

Single or Multiple Pass
Single or Multiple Arc
Welding Current
Polarity

Welding Progression
Root Treatment

WELDING PROCEDURE SPECIFICATION

A572 GRD. 50 /A992-06a

FCAW

SEMAUTOMATIC

FLAT

A5.20

E70 LINCOLN OUTERSHEILD

N/A

CO2 Dew Point -40DEG F Flow Rate 50 CFM

SINGLE (45 TO 63 CFM)

N/A

DC

DCEP

STRINGER

PER D1.5

Preheat and Interpass Temperature PER D1.5

Postheat Temperature
Heat Input

NONE

Min Max

' WELDING PROCEDURE:

Pass Electrode Welding Cument | vl Joint detail
no. size Amperes Volts speed
1 3/32 390 27 12
Variable LIMITS 351 25 14 . /__9R
TO TO 'TO : 172
429 29 13 -
¢ \‘{' )

)
©za

N
N
N
a3

&
@ ‘ i

172"

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of

variables given in Section 5.

Contractor Elderlee, Inc.

_Procedure No. 3008

Revision No.

Authorized By RANDY SCOTT

Date 5/29/2013




WELDING PROCEDURE SPECIFICATION

Material Specification A500 GR B
Welding Process FCAW
Manual or Machine SEMAUTOMATIC
Position of Welding FLAT
Filler Metal Specification A5.20 - 95
Filler Metal Classification E71T-1H8 E71T-9H8 LINCOLN ULTRACORE
Flux N/A
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
* WELDING PROCEDURE .
Pass Electrode vyelding Srrent Travel Joint detail
no. _Size Amperes Volts speed
1 1/16 300 26 14
Variable LIMITS 270 24 12.6 T - 3/16"~3/8"
TO TO TO '
330 28 15.4 Q.

B-UIVk-F

FT1

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of -

variables given in Section 5.

Procedure No.

Revision No.

Form IlI-2

3007

Contractor Elderlee, Inc.

Authorized By

RANDY SCOTT
Date 5/29/2013 ’

Form IIi-2-Samp|e Welding Procedure Specification




WELDING PROCEDURE SPECIFICATION

Material Specification A36

Welding Process GMAW

Manual or Machine SEMAUTOMATIC
Position of Welding FLAT

Filler Metal Specification A5.18

Filler Metal Classification L.-50 .052 LINCOLN

Flux N/A
Shielding Gas 90% ARGON /10% CO2 Dew Point -40DEG F Flow Rate 50 CFM
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
' WELDING PROCEDURE
Pass Electrode Welding Current Travel Joint detail
no. size Amperes Volts speed
.052 430 32 13
Variable LIMITS 387 29 12

TO TO TO war seave
473 34 14 I
H
|

|

[ 3 WELDS EA, SIDE
| @ EQUAL SPACES
|

| YT wes 3040

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3040 : Contractor Elderlee, Inc.

Revision No. , Authorized By RANDY SCOTT-
Date 12/20/2011

Form 1ll-2

Form lll-2-Sample Welding Procedure Specification



84'-7" PAY LIMIT:

: dlong@alderiee. com
Tel:316-789-6670 Faz:316-789-6616

— 10 SPACES @ 8-11/16" = 807"
2911 1/2" = 28'-3" v 2911 1/2"
Fx. JT. P JT |
Ex?;?ﬁ“” NI M| T 1 " 1 T " | 11 T LT EXtJJa_ns‘io"
I TT T IT I TT TT I T I o
ol I el I il I Y P I . I
| EE DETAIL 1 SEE DETAIL +— |
2711 1/2" WEST RAILING FACING WEST 27'-11 1/2"
110" o
B evese EAST RAIL SIMILAR 110 1——3-.10--_.
ji5 BILL OF MATERIAL
(e , or ITEM Ty | PaRT # DESCRIPTION ASTM DESIGNATION
= ——1t"——y
| ] 2" 1 22 |0033.03610 [W6x25, THREE RAIL POST @ 2-9 OA ON 1 1/4x10x1’-2” B.P. |AS72 Gr. S0
2" |
l——$— é— o L & 2 4 [0033.91066 [HSS 3* X 5” X 1/4” RAIL e 27'-11 1/2* AS00 Gr. B
8" dv ﬁ | 4 3 2 1003391067 [HSS 3“ X 5" X 1/4" RAIL e 28'-3* AS00 Gr. B
10" 31 1/16" (4x) 0 —— —E—— - 4 8 [0033.91068 |HSS 6 X 6”7 X 3/16” RAIL e 29'-11 1/2” AS00 Gr. B
$‘ ¢‘/ H d} SECTION A A S 4 10033.91069 [HSS 6* X 6“ X 3/16" RAIL e 28'-3” AS00 Gr, B
; i / 6 4 10033.00840 [2-1/8" X 4-1/4 FIX. SPLICE BAR @ 2'-3 AS72 Gr. S0
1/8" FABRIC PAD (e oA roe/ TP WPS-3008 7 | 8 [0033.00640 |[HSS 5° X 5° X 5/16” FIX. SPLICE TUBE @ 2'-3 AS00 Gr. B, A572 Gr. 50
FOR 1" DIA, ANCHOR @ OF POST 8 22 [0033.00220 ([3/8“ X 10 X 14’ ANCHOR PLATES AS72 Gr. S0
STUD (TYP.) ! 9 22 [0033.90050 [1/8” X 10° X 14 FABRIC PAD AASHTO M251
11/2"—— 10 88 |0042.21013 (4 1° X 13 ANCHOR STUDS, W/ 2 1/4” THD, EACH END A449 Gr. 1, CLASS 88
1-8
3 ) 11 | 176 10080.18901 |¢ 1° HEAVY HEX NUTS AS63
| e , e , 12 | 88 [0080.18911 |[@ 1” FLAT WASHERS F436
_4__ - " 13 88 0080.18905 |# 1 HEX JAM NUTS AS63
o] . | 1 f T 14 | 88 [0080.07500 |# 7/8° X 8’ ROUND HEAD BOLT, NUT, SQ. WASHER, LW. A449, AS63, F436, ASME DIB.2
i ' —_—— —_— G of Round 15 22 10080.06400 |@# 3/4“ X 87 HEX BOLT, NUT, (@) F.W.,, & L.W. A325, AS63, F436, & ASME D182
HES B¥ s B " ! el ”u"\§ 3 ' Head Boltwith | 16 | 44 [0080.06140 |# 3/4° X 2-3/4" HEX BOLT, NUT, (® F.W, & L. A325, AS63, F436, & ASME DI8.2
NG ' 6 16 4 Hex Nut, 17 32 (0080.06340 |8 3/4” X 7-1/2* HEX BOLT, NUT, & (@) F.W. A325, AS63, & F436
o, ) Washer and 18 16 0080.06255 |# 374 X 4-1/2° HEX BOLT, NUT, & <2) F.W. A325, AS63, & F436
W6 x 25 i s ' -!- Spring Lock 19 22 [0033.00500 [LS” X 5” X S5/8“ RAILING ANGLE @ 6“ AS72 Gr. S0
| 259 2’}’;‘;;:) 20 | N/A DELINEATORS (SUPPLIED BY CUSTOMER)
Ll JLL 1
L I L5" x 5" x 5/8"
HSS 5" x 3" x 1/4" — \ﬂ 6 Railing Angle \ @ @ 112" Spring Lock Washer
10 13/16" 0 : [ | i 3/16" x 2" x 2" Washer
= " o = Hex N .
12" x 1-1/4" x 10" ﬁ%—i ‘LS -6_-! | g - ox Nt 780\ 1 —j= e |
Base Plate e | o i L
4 A A
1uer FABRIC PAD\LI | |r ﬂ IIIHIi:L | i b A POST 1 hd 3 . —{ [—ar8"
1 1l ' — "
| | 10" —l—1s8"
1 —(4)@1 x 13" ANCHOR STUDS ||| il " 1 ¥
% H : W/ 2 1/4" THD. EACH END & h .l i l 7 > | o5 P g o ROUND HEAD BOLT
(2) HEAVY HEX NUTS, | -
l (1) JAM NUT I . W 2 & 4
AND (1) W,
' L) WASHERS EACH | L A - ITEM #: 525.335 F.R. LAFAYETTE, PITTSFIELD [sHeeT 1 oF 2
10" . :
nr RAILING ANCHORAGE r\ r\ | ~011/16" (4x) | APPROVED BY: BRIDGE RAIL DETAILS SHEET
b ! -« PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
A TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT
R[NO. | DATE | _DESCRIPTION BY| R [NO.| DATE | _DESCRIPTION _|BY
ELEVAT'ON rg" ROADSIDE 5 EP. 5
| | o7
SECTION LS f @ @@ DRAWN | Ep. [ 24n14
ELDERLEE INC. <FABRICATOR|| CHECKED | D.L. 2/4/14
STEEL BRIDGE RAILING ANCHOR PLATE mm‘czwns NEW YORK 145 gIZ’AROVLEED S_CHEMATI(.:

[DRAWING NO.F.R. LAFAYETTE, PITTSFIELD




—d

i’" Typ-

4

41/4"X21/8"X2'3"

SPLICE BAR - FIXED

7

8

Galvanized Bar

Typ.

.

BRIDGE POST DETAIL

2'.3"
pol
-03" 10.1"_.
— [
—e3 -
2%_"’] i- — [ o
I 40 | ] a L
" / A )
9 PLAN L@Z Centerline of @ 7/8"
—_— 8 in Top & Bottom of
5" X 3" X 1/4" Tube (Typ.)
T | | | | 5-2&"
0 UK T Y I

I Ll Ll Ll 1
! | | | e
ELEVATION ELEVATION

FIXED BAR SPLICE FIXED BAR SPLICE ASSY.
1.0
10"
7
| 2 IWB_
on
" ‘———é) W

p=Fo

1 1/8° DIA. HULE-/
FOR 1° DIA. ANCHOR
STUD CTYP)

3/4"

14

10"

25

20

" WPS-3008
.
[ ﬂ—t|~1 1/2"
™ ii 41'/2"
R
~ ” \-0]—2-" x2)
” /| @ Nwexes
11, X
|
Il
T
ol o]
” /-z}—g x2)
o &
I
Il
I
1

1|
T

(4) 3/4" Fully Threaded Bolts. 4 1/2° Long

(ASTM A325, TYPE 1) 2 Washers and a Heavy
Hex Nut on each Bolt. Nut to be Finger Tight

and the First Thread below the nut to be

damaged A.O.B.E.. 4 Bolts at Each Splice.

GENERAL NOTES:

HSS 5" X 5" X 5/16" @ 2' 3"
Galvanized Tube

(Each Side)

Typ.

(Bottom)

: e | el
20} i—] i
1 -61 4& w;
—a3 et e
—_ : " : -~
%" Typ: e Y
T T OLES ON
d——- P— -_Q.__/H 2 PLAN
_________________ FIXED TUBE SPLICE ASSY.
pn | B
—
WPS 3000 ELAN N Centerline of @ 7/8"
Ty, 5" in Top & Bottom of
w2 6" X 6" X 3/16" Tube (Typ.)—
4" X 1/4" X 26" Fill Plate ‘
1 | | |
[ [ | [ (4) 3/4" Fully Threaded Bolts. 7 1/2" Long
i ] ! ! ELEVATION (ASTM A325, TYPE 1) 2 Washers and a
Weer00e FIXED TUBE SPLICE ASSY. Heavy Hex Nut on each Bolt. Nut to be Finger
174 /28 Tight and the First Thread below the nut to be
i ” - damaged A.O.B.E.. 4 Bolts at Each Splice.
4" x 1/4" x 26" Fill Plate ELEVATION
FIXED SPLICE TUBE SPLICE TUBE - FIXED

1) ALL RAILING IS TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF THE STANDARD

SPECIFICATIONS.

2) PRIOR TO GALVANIZING THE ASSEMBLED POST, GRIND ALL EDGES TO A MINIMUM RADIUS OF 1/16".
3) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB).
4) RAIL TUBE EXPANSION JOINTS SHALL BE PROVIDED IN ANY RAIL BAY SPANNING THE END OF AN
INTEGRAL ABUTMENT BRIDGE AND AT ALL SUPER STRUCTURE EXPANSION JOINTS. EXPANSION JOINT
WIDTH SHALL BE 4"@ 68°F AND WILL BE ADJUSTED IN THE FIELD BY THE ENGINEER FOR OTHER

TEMPERATURES.

5) RETROREFLECTIVE MATERIAL SHALL MEET THE REQUIREMENTS OF SUBSECTION 750.08 AND
SHALL BE A .063" ALUMINUM BACKING WHITE OR YELLOW REFLECTOR. WHITE IS TO BE INSTALLED ON
THE DRIVERS RIGHT. FOR ONE WAY BRIDGES , YELLOW IS TO BE INSTALLED ON THE DRIVERS LEFT.
6) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE ADJOINING
SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES.
7) THE MINIMUM DISTANCE FROM THE POST TO AN EXPANSION JOINT SHALL BE DETERMINED BY THE
MINIMUM EDGE DISTANCE OF 5" FROM ANY ANCHOR STUD TO THE END OF THE SLAB, OR THE
EXPANSION JOINT RECESS POUR, IF ONE IS USED.
8) ALL POST SHALL BE SET NORMAL TO GRADE. THE MAXIMUM CENTER TO CENTER SPACING OF
BRIDGE RAIL POST IS 8'3".
9) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT. RADII GREATER THAN 16' TO
BE CURVED ON A TUBE BENDING MACHINE, RADII LESS THAN 16' TO BE "PIE CUT" AND WELDED.

10) STD. SPLICE HOLES ONLY IN BRIDGE RAIL TUBES. REST TO BE DRILLED BY CUSTOMER. FIELD
DRILLED HOLES TO BE COATED WITH AN APPROVED ZINC-RICH PAINT PRIOR TO INSTALLATION.

11) THIS RAILING MEETS THE REQUIREMENTS FOR A TL-4 SERVICE LEVEL.

ITEM #: 525.335

F.R. LAFAYETTE, PITTSFIELD

2"

p— 1 § g
%“ ¢ @

11/2"
3||

I_5/8ll
%II ' = *
4 "
*\\61 3/16

(3X)
L5 x & x 5/8"
RAILING ANGLE

| SHEET 2 OF 2

|
21/2"
|

3l|

APPROVED BY:

BRIDGE RAIL DETAILS SHEET

PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT

[R[NO. [ DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY]
E E
v v
1 )% CERTIFIED DRAWN E.P. 2/4/14
ELDERLEE,INC. [\ <raucATOR|[ CHECKED | D.L. 2/4/14
< APPROVED | . :
OAKS CORNERS, NEW YORK
E—Mail: .u.ru.,u:,:a SCALE SCHEMATIC

Tel:316—-789-6670 Faz:316—-789-6616

[DRAWING NO.F.R. LAFAYETTE, PITTSFIELD




HSS 6"x6"x3/16" Rail
@17-11 172"

HSS 6"x6"x3/16" Kickback

32' - PAY LIMIT FOR TRANSITION - BRIDGE RAILING TO BOX BEAM GUIDE RAIL

ELEVATION VIEW

@9-0"wEndCap \ \ 1 R T —y\
o D et TR WO NIV - - ! ;3 ]
{ e - W S - B p— T Y T f— -t
R T = E— = E—— I 4 - . e —— - . T
2 = - n 4 R
‘ 2 - —-- = | = | E + e I o St Arvarw sk i
] 1'-3" H H H i l_ N ) N B S 8D e S
e — = [ |y A H A
o710 | i " v v Last Bridge Post
GROUND —i11 1 Lh] - L o o ninl min o nh sl nh g0 i
l i— S3x5.7 Post @ 3-8" 53x5.7 Post @ 63" w/Spade S3x5.7 Post @ 7-0" w/Spade \ / W6x9 Post @ 7'0" w/ Spade
w/Spade @ 3'-0" Spacing = 15"-0 @ 2'-0" Spacing = 6'-0" @ 2'-0" Spacing = 60" (3ea.)
oy
3 BN 2 &
\4/
HSS 6"x8"x1/4" Tube
HSS 6x8x3/16'\ Blockout @ 6" ‘\{5 15 6 . _
L I I be T I I I I I N -
1 \ o] e o \ ] Tew e ; -
1/2"'— ] .
GUARD RAIL TO BRIDGE RAIL TRANSITION 4 &
\8/ \2/
(18
HSS 6x6x3/16" E] 6
® -]
. . A T, ..
SEE ADDITIONAL SHEETS FOR DETAILED VIEWS
9\
\1/
- BILL OF MATERIALS, WW 1 & 4 - » o ) "C"-"C"
o ESCR T T I 1
: # G‘;Y m?g;%. - DESCRIPTION MATERIAL (AS‘.I'N) _—I 6" L-_ L_1 '-10'_>I
2 3 0013.57025 |3 1-POST, PUNCH 67, & 20° W/SPD @ 63° LG ASTH AS72 Gr. 50|
3 2 0013.57060 3" I-END POST W/SPD @ 3-6° LG ASTH AS72 Gr. 50|
3 4 0013.09001__[W6X9 POST @ 7' W/SPD & 5/6° HOLES —___ASTH AS72 Gr, 50|
5 4 001357010 |3 I-PUST, PUNCH B° & 20°, W/6X32° SPADE @7 ASTH AS72 Gr. 50|
3 1 0033.80403_[3X5" BTM_TRANS RAIL W/5'-0° KB, EXP_END AS00 Gr. B |
7 1 003300640 |HSS 5%X5 TUBE SPLICE @27° LG W/ 174’ SHIRS | A500 Gr. B 7 AS72 Gr 50|
e R T T LT b e BN P IREE W |\TEN P 621,725 F.R. LAFAYETTE, PITTSFIELD [ sHEET 1 OF 8
10 19 1/2 ASTM A36
- ww 37 eS| APPROVED BY: GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET
2 e PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
= A0 G BT AT TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT
HARDWARE NOTES I ! : o MR |'§ NO. | DATE | DESCRIPTION BY z NO.| DATE | DESCRIPTION | BY]
FUNCTION 18 1 TM TRANS @ 21'-4 5/8° LG V/EXP AS00 Gr. B
E_TER 110> 15 |16 | oosocazss 3/ & BOLT, NOT, & & FV 307, AS63, FA% | v v
'S 10 & 11) 10 POST 20 | 15 | oos0.04100 [I72° x i-1/2° BOLT, NUT, & FV 7307, AS63, F436_ | S CERTIFED||-2RAWN E.P. 2/18/14
#'S 13 & 14> TO HEAVY POST 21 | B2 | 008004120 [1/2° x 1-1/2° BOLT, NUT, 2 'V & LW A307, AS63, F436 | ELDERLEE.INC. rAaRicaToR|| CHECKED | D.L. 2/19/14
22 [(4) PER SPLICE BAR CITEM ¥9) 22 4| 008006255 [3/4° X 4-172” BOLT, NUT, 2 W A32S, 563, F436 | » . & APPROVED | -
55 Tlh) FER SELICE - TOBING (e VE T E 5 2| 008006340 _[374" X 7-172° BOLT, NUT, 2 FW A32S, AS63, F436 | OAKS CORNERS, NEW YORK 146 SoALE [ S
24__|BOLT RAIL CITEWS #'S 6,17, & 18 TO BLOCK-OUTS GITEW WS 13 & 1) [VHERE FASTENEDT | |22 g_ 0080.06370|3/4 LTV & LV ,mwmr:w-—

"X 6" _CARR BOLT
0080.06400 [3/4° X &° BOLT, NUT, 2 FV, & LW

E—Mail: dlong@elderiee.com / epeekOeldriee.com
Tek316-780-6670 Fox:316-780-6610

[DRAWING NO.F.R. LAFAYETTE, PITTSFIELD




ELEVATION VIEW

32'- PAY LIMIT FOR TRANSITION - BRIDGE RAILING TO BOX BEAM GUIDE RAIL

HSS 6"x6"x3/16" Rail

@17-11 172"

HSS 6"x6"x3/16" Kickback

L\ p—— - T . e @ 9'-0" w/End Cap
- 4._4 T °]_ - /\ -------------- T—} ’
L = ) E— I8 1100 0 Y Y S— S E— — e
2'-9" 4 é- 1 o ° -ﬁ- _ﬁ_ -ﬁ ——___\E‘ -------- _ﬁ_ -------------- é.-_g. ------- g — - — - — s ‘—-2-,:§|1-|"B"
SR IR s == s -t o E— I S = R = E— . s i LY
oo 1L | | - | 1 | ] 1 - - an [ ——
' [ Y YTy T 1 1-3 .
Last Bridge Post v v " \?
i HEA A [ [RER] IRER! [l RN Ll Cid fiil— e RIHIR [l r*-{:l il
W6x9 Post @ 7'0" w/ Spade \ / | S3x5.7 Post @ 7-0" w/Spade___| S3x5.7 Post @ 63" w/S'pa"de $3x5.7 Post @ 3-8" —7 I
@ 2'-0" Spacing = 6'-0" (3ea.) @ 2'-0" Spacing = 6'-0" @ 3'-0" Spacing = 15"-0 w/Spade
& (5 3 GROUND
4./
HSS 6"x8"x1/4" Tube
E] E}\ ‘5/7 Blockout @ 6" HSS 6x6x3/16" HSS 6x6x3/1 6"\
o ®
MAS RN In I I I\ I I I I I I I
A"-"A" L IO \ | 6 0|0 0! / y
4 = /2"
2 (Y GUARD RAIL TO BRIDGE RAIL TRANSITION
\2/ \8/
(WW 2)
(18) ,
6 6 HSS 6x6x3/16" v HSS 6x6x3/16™
o ®
— 1L . I T \ T T T \ T
B"-'B T as e |+] a® c® |

-
¢ - BILL OF MATERIALS, WW 2
T T T T [TTEW W[ ary. COMPONENT _# | DESCRIPTION MATERIAL <ASTM)
o] —lgle— T 3 | ooiaszeer |3 I-POST, PUNCH 6° W/SPD @ 63° LG :
2 3 001357025 » ', LG 3
3 2 001357060 [3° I-END POST W/SPD @ 3'-8° LG ASTH AS72 Gr. S50
4 4 0013.09001  |W! " W, 3
4 0013.57010 [3° I-POST, PUNCH B° & 20°, W/BX32° SPADE @7’ ASTM A372 Gr. 30
3 T AS00 Gr. B
T [ AS00 Gr. B 7 AST2 Gr 50|
i A w2 ITEM_ff: 621.725 F.R. LAFAYETTE, PITTSFIELD [ sHEET 2 0F 8
10 19 ASTM A36
T A APPROVED BY: GUARD RAIL TO BRIDCE RAIL TRANSITION DETAILS SHEET
7 5 : ] PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
BT RSO0 Gr B 7 A% TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT
(16105 AS00 Gr. B R[NO. | DATE | DESCRIPTION BY| R[NO.] DATE | DESCRIPTION _|BY|
17 1 AS00 Gr. B E E
] i L v v
i 7 ~A307, AS63, FA% |
2 15 = A307. ASE3, A% | 7T WJ, DRAWN | Ep. | 21ena
21 22 0080.04120 [1/2° x 1-1/2° BOLT, NUT, 2 FW & LV A307, AS63, FA436 d 2 rasnicator|| CHECKED D.L 2/19/14
=3 4 0080.06255_[3/4° X _4-172° BOLT, NUT, & FW A325, AS63, F436 ELDERLEE,INC. P = -
23 |12 | oosooeasn [374" X 7-I/Z WOLT, WY, 2 FW A325, AS63, FA% | OAKS CORNERS, NEW YORK 145 ;‘::"A‘t‘ém TR
24 6 0080.06370 '4° X 8° CARR BOLT, NUT, FVW & LV A307, AS63, F436 — : dlong@elderiee.com epee ldriee.
25 2 3747 X & BOLT, NUT, 2 TV, & LW A32S5, AS63, F436 £ ”M,; aom DRAWING NO.F.R. LAFAYETTE, PITTSFIELD

SEE ADDITIONAL SHEETS FOR DETAILED VIEWS




ELEVATION VIEW

32' - PAY LIMIT FOR TRANSITION - BRIDGE RAILING TO BOX BEAM GUIDE RAIL

HSS 6"x6"x3/16" Rail
@16'-2 1/4" W/ Partial 16'
Radius & Typical End Ass'y

37"

MAN —— e e 'i_ ______________________________________________ ‘m R @ 9'-0" w/End Cap
T ;;3 - ; : S . S AV SRR e
B —- [ Y Y YN T ) E— .= — Y
2'-9" 4 ii ! ° ” _@_ ‘ﬁ- R Bﬁ_ -------- _ﬁ_ ----- - --_-él_an b
e e e B e N e s o e — : - n
f [ Y YTy i o _l i I i 1'-'3“‘
Last Bridge Post V L"o"
il i 0o M1 il [ [id AN [l [l fid [ii]— — I
Weéx9 Post @ 7'0" w/ Spade \ / S3x5.7 Post @ 7-0" w/Spade S3x5.7 Post @ 63" w/Spade $3x5.7 Post @ 3-8" —/ |
@ 2'-0" Spacing = 6-0" (363.) @ 2'-0" Spacing = 6-0" @ 3'-0" Spacing = 15-0 w/Spade
7 4
Yv o 3 9" TO
GROUND
\4/
HSS 6"x8"x1/4" Tube
°I. 6 a | / Blockout @ 6" HSS 6x6x3/16\
"AIAT o. I I I I I I I I I I
jil joewce i | | , e oo ol / |
T i —/2"
(8™ (13)
-, > GUARD RAIL TO BRIDGE RAIL TRANSITION
(18
6 Iﬁ
HSS 6x6x3/16™
o ®
B i N o I W , y
B"-'B Ve ao [+] 'coaw | \
HSS 5xax1/4” SEE ADDITIONAL SHEETS FOR DETAILED VIEWS
"G"-"C" (d :. - . BILL OF MATERIALS, WW 3
BETITTN R e e o s oo B R T
3 3 0013.57085_[3' 1-POST, PUNCH 67, & 80° V/SPD @ 63" LG ASTH AS78 Gr. 50 |
3 2 0013.57060_[3° 1-END POST W/5PD € 3-8° LG ASTH AS72 Gr, 50|
4 0013.09001 s ASTH AS72 Gr. 50|
e 4 0013.57010 |3’ 1-POST, PUNCH &° & 20°, W/8X32° SPADE @7’ ASTH AS72 Gr. 50|
0033.80403_[3X5° BTN _TRANS RAIL V/5'-0° KB, EXP_END AS00 Gr, B
0033.00640_|H U ] X
5 s iR E¥F MR U ELB Y T L T o e ITEM_#: 621.725 F.R. LAFAYETTE, PITTSFIELD [sHEET 3 OF 8
[ 10| 19 | 0054.00050 SHELT S @ 4172 ASTH_A36
e Rt S o w3 e APPROVED BY: CUARD RATL T0 BRIDGE RATL TRANSITION DETATLS SHEET
s 054 00565 JEXE TRANS—TUBE 5/0°8 3 T ] PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
5 T | 005409000 |6X6° BB @ 5'-0° KICKBACK, Wi/ CAP S WA TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT
16 1 [6X6” BB @ 16'-2 1/47, DRILL 3" CC, W/ 16" RAD. & END L A500 Gr. B R|NO. | DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY]
17 1 0054.90092_|6X6” BB _TOP TRANS 209 5/8° LI ® END 3 E E
18 T 0054.50093__|6X6’_BB RARS @ 87 LG W/EXP END AS00 Gr. B |
19 | 18 0080.03355_[3/8° X 7 1/2° BOLT, NUT, & € FW A307, AS63, F436 \4 - v
[ 20 | 19 | 008004100 %2' % 1-172° BOLT, NUT, & FV A307, AS63, T436 | AN CCERTIFED|IDRAWN E.P. 2/18/14
21 22 0080.04; X 1] 307, A563, F436 | g 5)) 2
22 |4 _——moségg 374 X 4_11,2. Bgi",ﬂ,‘-'ze%" 2 ‘W: - 2 @ ELDERLEE,INC. \ m'! <FABICATOR|| CHECKED | D.L. 2/19/14
_g_} 1‘! | 0080.06340_[3/4° X 7-1/8° BOLT, ‘MJT.T‘Z F’;Ivl.“LV :3&5, A563'. F4% | OAKS CORNERS, NEW YORK 146 ;l::g\étb SERETATIC
25 | 2 F436 |

0080.06370
0080.06400 |3/
e

'4” X 8" BOLT, NUT, 2 FVW, & LV

E—Mail: dlongO@elderiee.com / epeekOeldrise.com
— Tek316-780-6670 Fox:316-789-6616

DRAWING NO.F.R. LAFAYETTE, PITTSFIELD




PLAN-VIEW P/N: 0013.57025
[
—jE-E" X 8" X 24" SPADE
W
#- r ] I ¥
| [ N
¢l \o 13/16" HOLE
J_ . (FOR GALV)>
18" 1)
h 35"
. 5/8" HOLES 1
Il @neao
i | 63"£1/8"
il 1/4" 238"
I I WPS 3040
i I! WPS 3040
i i 1/4" 2-11
: I
4"£1/8" 1 H
I W
FRONT CITEM # 2) SsIbE e
PLAN-VIEW P/Nt 0013.57021
I— :I—n'
1 1/4° X 8* X 24" SPADE
e
Ti-l # { ¥
& \l 13/16” HOLE
J_ 1 FOR GALV)
0 5/8" HOLES
(2) REQD
35"
63"£1/8"
S
WPS 3040
WPS 3040
N
/!/4* /211
: - N
4":1/8
) 14" /238
FRONT CITEM # 1> smpE "%

PLAN VIEW
8" —
[l
T‘-I-M" X 8" X 24" SPADE

P/N: 0013.57060

13| F

5/8" SLOTS
(2x)

GENERAL NOTES:

¥

T
\0 13 /16" HOLE

(FOR GALV)

14" 23/8"
WPS 3040

WPS 3040

|

|

f |

! !\ 4am£1/8" !

I | WPS 3040 |

i i i 174 [%1 i
I |

d |

-
CITEM # 3>
FRONT SIDE

PLAN VIEW

P/Ni 0013.09001

1) ALL RAILING IS TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF

THE STANDARD SPECIFICATIONS.

2) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB).

3) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE

ADJOINING SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES.

4) BOX BEAM TUBE AND STEEL POST MATERIALS, DIMENSION SIZES AND NOTES SHALL

BE THE SAME AS THOSE OF THE BRIDGE RAIL, UNLESS OTHERWISE NOTED.

5) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT. RADII GREATER
THAN 16' TO BE CURVED ON A TUBE BENDING MACHINE, RADII LESS THAN 16' TO BE "PIE

CUT" AND WELDED. CURVED RAILING WIIL HAVE AN 18" LENGTH ON EACH END

STRAIGHT TO ACCOMADATE SPLICES.

i =
——E#'X 8" X 24" SPADE
=
e
L r%. —I'%"r—_[‘_
ar il T
# L -1 N0 13 /16" HOLE
(FOR GALV)
1af 1o
B No 58"
ZT (ezgo-o)
/WSXSIBEAM
WPS 3040
/2
7 I
N
WPS 3040
N
/1/4' |/ 210
/
B WPS 3040
/2
16"
CITEM # 4)
FRONT SIDE

ITEM i 621.725

PLAN VIEW

=i

P/N: 0013.57010

1/4" X 8" X 32" SPADE

¥
[ —
e [f I\ 13/16° HOLE
(FOR GALV)
+
20 I 5/8" HOLES
I{l[ @nreao
i
a7
4
Hi
"
W
i
| | WPS 3040
W
| | B4 1/8"
i i WPS 3040
i i a" |/ 210
T

W
i
"
W

15718 i i
Mt CITEM # S

- 7 [/ zam
WPS 3040
FRONT SIDE

F.R. LAFAYETTE, PITTSFIELD

SHEET 4 OF 8

APPROVED BY:

GUARD RAIL TO BRIDGE RAIL TRANSITION DETAILS SHEET

PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT

<m2a

NO. | DATE DESCRIPTION

BY| R [NO.

DATE DESCRIPTION BY]

OAKS CORNERS, NEW YORK 145

E-Mail: dlong@elderies.com / epeek
Pel-316—789— 915

Qeldrise.com
—B8616

2/18/14
2/19/14

E.P.
D.L.

DRAWN
CHECKED

APPROVED

SCALE | SCHEMATIC

[DRAWING NO.F.R. LAFAYETTE, PITTSFIELD




BACK VIEW

\
6" X 67 X 3/16" WELDED/

| ANGLE "B’, PER DOUBLE BEND SPLICE
¢AS DETERMINED BY GROUND SLOPE DROP)
END CAP, W/CUT CORNERS

0

\
l\)’t—a

(WPS-3007
(DB-UIVB

10%"‘_]— * X 4° SLOT
| a3 — I (TOP & BOTTOM) .
. 'é | I
2 +$ : J| 5
! | a4 == f IEW
9
i
TOP VIEW = ¢ HSS 6x6x3/16"
I s \ !
i & _\ i ! . J_=@
o TACK WELD =X e e g
. LD O
I o 1/4" END CAQ\ ; Ns 7/8° \¢ 172" b
J_% . . = JL_T (TOP & BOTTOMD (TOP & BOTTOMD
e \ / .
2 ¢ 1° HOLE FRONT VIEW ® 4AMITER @ 12.5° @ 5/8° HANGIN
C(FRONT & BACK) CITEM # 6) HOLE FOR GALV
(ITEM # 15 (TOP & BOTTOM>
1/2* HOLES
ol 1“8 x4* SLOT TOP VIEW  TOP+BOTTOM (TYP) HSS 6x6x3/16" ®7/8" HOLE
& 6 REQ'D TOP+BOTTOM
/TEIP+BEITTE]M > REQ'D .
- = r
S Misai ~ % + . — = . i
5.10" g=
7-10"
9-10"
11-10"
14-10"
17'-10"
2093"
1 HOLES
FRONT+BACK (TYP.) SIDE VIEW - 10 =
. 2 REQ’'D
L[ / i
6" —- 4 4
i o
1'-10'
3-10" CITEM # 17
ITEM #:621.725 F.R. LAFAYETTE, PITTSFIELD SHEET 5 OF 8
APPROVED BY: GUARD RAIL TO BRIDGE RAIL TRANSITION DETAILS SHEET
PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT
R[NO. DATE DESCRIPTION BY| R [ NO.| DATE DESCRIPTION BY]
E E
v - v
S P. 2/18/14
FELDERLEE INC. IE %ﬂ:n E.E 219/14
0AKS CORNERS, NEW YORK 14518 g‘;”:ﬁ‘é‘" G
‘_”w.'cm DRAWING NO.F.R. LAFAYETTE, PITTSFIELD




172" HOLES
10l MITER CUT FOR
2 16 x4* SLOT TOP VIEW TDP+BDTTDE ?'\’TEYQF:.I; HSS 6x6x3/16" DRILL @7/8* HOLE 9/-0” KICKBACKS
a3 — l- /TIZIP+BDTTEIM TDP+BDTTDM-\ ele-1s/2°
o R ] | % + 1 % % —y—
6= | | ]
5-10"
710"
9-10"
1110
14-10"
17-10"
2143
1 HOLES SIDE VIEW
) FRONT+BACK (TYP.)
| e 2 REQ'D
-
' 1-10"
3-10" C(ITEM # 18>
1/2* HOLES HSS 6x6x3/16"
7/8" HOLES (TOP & BOTTOMD ®7/8" HOLES
(TOP & BOTTOM S5 REQ'D (TOP & BDTTDM)\ 6"
———[ —_— + —— 4'Z —— — — — + -—%—-%—-——:}g
Je ]
S
42 L— 10%" ’ t 1
443 — [— 4.2.
21 1
5113 102
g-113
1113
14113
1711
| | ] 1 1 1 | L
! 1 T il ) I
L i i | i | |
1 | I I I I I
CITEM # 16 - WW 1, 2,8& 4
AETER WELDING ITEM #:621.725 F.R. LAFAYETTE, PITTSFIELD [ SHEET 6 OF 8
LN AR LS APPROVED BY: GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET
3 j_l T — PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
| ﬁ" % TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT
6" R|NO. | DATE DESCRIPTION BY| R |NO.[ DATE DESCRIPTION BY]
E
I I ] ./ll’ \R2 ) = ——1{ DRAWN E.P. 2/18/14
EeL B @1" Rﬁ" ELDERLEE. INC. /)< rABRIcATOR|| CHECKED | D.L 2/19/14
16 0AKS CORNERS, NEW YORK 14578 APPROVED | . :
END C D VE R PI_ A TE DE T A I L E-Mail: diongO@slderiss.com // m‘k..u':;"cm DI?ACV:D:-GENO Frsch:‘FEAhc}E\:s PITTSFIELD




45" 6" ol noLes

8
/ THRU (2X)

WING WALL 3

HSS 6x6x3/16"

PLAN VIEW -

172" HOLES
TOP+BOTTOM (TYPD
6 REQ'D

TYPICAL END SECTION

S AR — N —

2113 .

73"

(W/ 16' RADIUS

g-113"
— ; % = ‘
-y |
1°x7° HOR. SLOT CITEM # 16 — WW 3
3/8°x4"x9-1/2 TOP+BOTTOM
SHIM PLATES
WPS#301 4-REQ, (2w/SLOTY 6"_
Typ 17x7* HOR. SLOT _gn_ P
TOP+BOTTOM
§ll_ 3
= 4 - 5 g i
| T ) T 1 T
B 6" T 1¢ | 1 | .
4.3_" | =+ I I 'E' === = .
4 — &) [ 4 [ -| 3
l 1 N 1 1 i |_ 61 "
1 n 1" U
110 N0 5/8 1o L
R N 3 7 | 5

HSS 5'x5’x5/16'\ r—___i_-r—_”—l_ ]

CITEM # 12>

“A*” - SEE PLAN FOR TURN BACK DISTANCE, SET ANGLE
ACCORDINGLY. <25° FOR WW 1, 2, 3, & 4>

‘B’ — TURN DOWN ANGLE SET BY THE 9 MEASURMENT AT
THE END OF THE BOX BEAM. <(FIELD MEASUREMENT REQ‘D>

|
L L
~3"— - ,.,,,1%., | SHEET 7 OF 8

ITEM #f:621.725 F.R. LAFAYETTE, PITTSFIELD

| i e APPROVED BY: GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET
15" 5 PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
L I 2 TI @'8'" (2X) TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT
Slv" \®1n 1 ;I:i_ i R|NO. | DATE DESCRIPTION BY : NO.| DATE DESCRIPTION B
I 1 1__!1 W E
CITEM # 13> 2 L I L Ny — ¥
(Igz‘it \QI%ID - l_zz" ELDERLEE, INC. k@))gg\%’gyﬂ%% E:REA(:(:ID’ [E)E ://:g;::
OAKS CORNERS. NEV DK 140 SCALE | SCHEWATIC

s 6570 Fus 41 6-780-8615 ___DRAWNG ¥O.oA ewvere P




317"

e’'—

3

3}

I
31/

SUPPORT

RAIL-/
ANGLE

HSS6x6x3/16"

GROUND LINE

ONNECT BEAM TO RAIL SUPPORT
ANGLE W/ ¢3/8°x7 1/2" HEX
BOLT W/ NUT & TwO WASHERS

ITEM #: 621.725

F.R. LAFAYETTE, PITTSFIELD

| SHEET 8 OF 8

L

1—S3x5.7 POST
SUPPORT ANGLE

(CONNECT TO END

POST W/ ONE ¢1/2°

x 1 1/2° HEX BOLT

W/ NUT & WASHER.

TYPICAL END ASSEMBLY DETAIL

2 e
|—7/16" X 3" SLOT
4 i
A3k A3l
3’ TOP VIEW ;' 7
—3r—|
T T 1 1
I
ak D
'69' \,\;
# 5/8° (29
b 34 X5° X /6" ANGLE
—aéa_
e
FRONT VIEW PLAN VIEW
CITEM # 10

APPROVED BY:

GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET

PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT

ELDERLEE,INC.
OAKS CORNERS, NEW YORK 145

b4
<

16

FABRI

E-Mail: dlongOelderiee.com / epeekOeldrise.com
Tel:316-780-6670 Fox:316-789-06

R|NO. | DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION _ [BY]
< E
- \4

TRTITIED]-2RAWN E.P. 2/18/14.

CHECKED | D.L. 2/19/14
APPROVED | . .
SCALE SCHEMATIC
[DRAWING NO.F.R. LAFAYETTE, PITTSFIELD

ICATOR




